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1. The best index of economic development is provided
by
(a) growth in national income at current prices
(b) growth in per capita real income from year to

year
(c) growth in savings ratio
(d) improvement in balance of payments position
(e) None of the above/More than one of the above

02. Consider the following statements and choose the
correct answer from the following code given below:
Statement (A): Economic development requires a
multi-pronged approach.
Reason (R): The present Government of India is fo-
cusing primarily on microeconomic topics.
(a) Both (A) and (R) are correct and (R) is the correct

explanation of (A)
(b) Both (A) and (R) are correct, but (R) is not the

correct explanation of (A)
(c) (A) is correct, but (R) is false.
(d) (A) is false, but (R) is true.

3. Which among the following is NOT a major factory
of economic growth?

(a) Accumulation of capital and reforms in
technology

(b) Change in population

(c) Division of labour in specialised activities
(d) Technocrats and Bureaucrats

4. Consider the following statements :

Human capital formation as a concept is better ex-
plained in terms of a process which enables-

1. individuals of a country to accumulate more capi-
tal.

2. increasing the knowledge, skill levels and capaci-
ties of the people of the country.

3. accumulation of tangible wealth.

4. accumulation of intangible wealth.

Which of the statements given above is/are correct?

(a) 1 and 2

(b) 2 only

(c) 2 and 4

(d) 1, 3 and 4

1.

(a)

(b)

(c)

(d)

(e)

2.

(A)

(R)

(a) (A) (R) (R), (A) 

(b) (A) (R) (R), (A) 

(c) (A) (R) 

(d) (A) (R) 

3.

(a)

(b)

(c)

(d)

4.

(a)

(b)

(c)

(d)

Economic Test
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5. Increasing investment in human capital leads towards-

(a) Proper utilization of resourcs

(b) Increase in productivity
(c) Development of skill
(d) All of the above

6. Despite being a high saving economy, capital forma-
tion may not result in significant increase in output
due to
(a) weak administrative machinery
(b) illiteracy
(c) high population density
(d) high capital-output ration

7. Consider the following statements about the idea of
"inclusive growth"
1. The idea of inclusive growth entered into the do-
main of planning with the Eleventh Five Year Plan
2. This is not only concerned with economic but
also with social inclusion
3. The main idea behind inclusive growth is to in-
clude SCS, STS, OBCs, minorities and women in the
country's development process
4. The 3rd generation of economic reforms runs
parallel to the idea of inclusive growth
Select the correct answer using the codes given be-
low
Codes
(a) 1, 2 and 3 only (b) 2, 3 and 4 only
(c) 1, 3 and 4 only (d) 1, 2, 3 and 4 all

8. Which of the following can aid in furthering the gov-
ernment's objective of inclusive growth?
1. Promoting self-help groups
2. Promoting micro, small and medium enterprises/
3. Implementing the right to education act
Select the correct answer using the codes given below
(a) 1 only (b) 1 and 2 only
(c) 2 and 3 only/ (d) 1, 2 and 3 only/

9. Match List-I with List-II and select the correct an-
swer using the code given below.

List-I List-II
A. Economic development 1. GDP
B. Economic Growth 2. Environment
C. Sustainable Development3. Health
D. Quality of life 4. Structural Change

Code:

A B C D

(a) 1 2 3 4

(b) 4 2 3 1

(c) 3 4 1 2

(d) 4 1 2 3

5.

(a)

(b)

(c)

(d)

6.

(a) (b)

(c) (d)

7.

(a) (b)

(c) (d)

8.

(a) (b)

(c) (d)

9. I II

I II

A. 1.

B. 2.

C. 3.

D. 4.

A B C D
(a) 1 2 3 4
(b) 4 2 3 1
(c) 3 4 1 2

(d) 4 1 2 3
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10. Economic Planning is subject of

(a) Union list

(b) State List

(c) Concurrent list

(d) Not written in any particular list

11. Which one of the following was not a part of the strat-
egies followed by the Government of India to increase
food grain production in India immediately after In-
dependence?

(a) Intensification of cropping over already
cultivated land

(b) Increasing cultivable area by bringing cultivable
and fallow land under plough

(c) Using high-yielding varieties (HYV) seeds

(d) Switching over from cash crops to food crops

12. Match List-I with List-II and select the correct an-
swer using the code given below.

List-I List-II

A. First 1. S. Chakravarty
Model

B. Second 2. Harrod-Domar
Model

C. Third 3. Ashok Rudra
Model

D. Fourth 4. Mahalanobis
Model

Code:

A B C D

(a) 1 3 2 4

(b) 2 4 1 3

(c) 3 1 2 4

(d) 2 1 4 3

13. The basis of the first five-year plan in India was

(a) Harrod-Domar model

(b) Mahalanobis model

(c) Dadabhai Naoroji Model

(d) JL Nehru model

(e) None of the above/More than one of the above

14. Which five year plan of India has laid emphasis on
"faster, sustainable and more inclusive growth"?

(a) Ninth Five year plan

(b) Tenth Five year plan

(c) Eleventh Five year plan

(d) Twelfth Five year Plan

10.

(a)

(b)

(c)

(d)

11.

(a)

(b)

(c) (HYV)

(d)

12. I II

I II

A. 1.

B. 2.

C. 3.

D. 4.

A B C D
(a) 1 3 2 4
(b) 2 4 1 3
(c) 3 1 2 4

(d) 2 1 4 3

13.

(a)

(b)

(c)

(d)

(e)

14.

(a)

(b)

(c)

(d)
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15.

(a) (b)

(c) (d)

16.

(a)

(b)

(c)

(d)

(e)

17.

(a)

(b)

(c)

(d)

18.

(a) (b)

(c) (d)

19.

(a)

(b)

(c)

(d)

20.

(a)

(b)

(c)

(d)

21.

(a)

(b)

(c)

(d)

15. The National Bank for Agriculture and Rural Devel-
opment (NABARD) was established in which five-
year plan period?

(a) Fourth (b) Sixth

(c) Fifth (d) Eight

16. Which one of the following programmes was initi-
ated during the Sixth Five-Year Plan?

(a) Integrated Rural Development Plan

(b) Rural Literacy Development

(c) Rural Railways

(d) Advanced Communication Links for Rural
People

(e) None of the above/More than one of the above

17. Consider the following statements regarding Indian
Planning:

1. The Second Five-Year Plan emphasised on the
establishment of heavy industries

2. The Third Five-Year Plan introduced the con-
cept of import substitution as a strategy for industri-
alisation

Which of the statements given above is/are correct?

(a) 1 Only (b) 2 Only

(c) Both 1 and 2 (d) Neither 1 nor 2

18. Which five year plan was operationalized in India
during April, 1992 March, 1997?

(a) Sixth Plan (b) Seventh Plan

(c) Eighth Plan (d) Gradual Plan

19. The main sense of the Eleventh Five Year Plan is

(a) Human Resource Development

(b) Increase with social justice and equality

(c) Human welfare /

(d) Faster and more Inclusive growth

20. What is the term of the Tenth Plan?

(a) Year 2002 to 2007

(b) Year 2000 to 2005

(c) Year 1999 to 2003

(d) None of these

21. Under which scheme was the Development Center
Approach adopted?

(a) First Five-Year Plan

(b) Second Five-Year Plan

(c) Third Five-Year Plan

(d) Fourth Five-Year Plan
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22. Which period of the Five Year Plan is not true?

(a) First -1951 to 1956

(b) Second -1956 to 1961

(c) III-1961 to 1966

(d) IV-1966 to 1971

23. The slogan 'Garibi Hatao' was introduced in-

(a) First Plan (b) Fifth Plan

(c) Fourth Plan (d) Second Plan

24. In which five year plan was the National Horticulture
Mission launched?

(a) In the Eleventh Five Year Plan

(b) In the tenth five-year plan

(c) In the Ninth Five Year Plan

(d) None of the above

25. Which of the following schemes has the highest
growth rate in India?

(a) Eighth Plan (b) Ninth Plan

(c) Tenth Plan (d) Eleventh Plan

26. Who among the following is not a part of the Na-
tional Development Council?

(a) The Secretary of the NITI Aayog

(b) The Secretation Ministry

(c) The Vice Chairman of the NITI Aayog

(d) None of the above

27. Which of the following is a Nodal Institution for im-
plementation of Sustainable Development Goals in
India?

(a) Planning Commission

(b) Disinvestment Commission

(c) NITI Aayog

(d) Finance Commission

28. Hindu growth rate is related to -

(a) Money

(b) GDP

(c) Population

(d) GNP

(e) None of the above/More than one of the above/

29. Who among the following had estimated the National
Income of India, at first?

(a) K.N. Raj

(b) V.K.R.V. Rao

(c) Dada Bhai Naoroji

(d) P.C. Mahalanobis

22.

(a)

(b)

(c)

(d)

23.

(a)

(b)

(c)

(d)

24.

(a)

(b)

(c)

(d)

25.

(a)

(b)

(c)

(d)

26.

(a)

(b)

(c)

(d)

27.

(a) (b)

(c) (d)

28.

(a) (b)

(c) (d)

(e)

29.

(a)

(b)

(c)

(d)
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30. Per capita income of India was 20 in 1867-68, it was
estimated at first by-

(a) M.G. Ranade (b) Sir W. Hunter
(c) R.C. Dutta (d) Dada Bhai Nauroji

31. Which economist-first-calculated the national income
scientifically, in India?
(a) D.R. Gadgil (b) V.K.R.V. Rao
(c) Manmohan Singh (d) Y.V. Alagh

32. Hindu growth rate is related to
(a) Money (b) GDP
(c) Population (d) GNP
(e) None of the above/More than one of the above

33. National Sample Survey once (NSSO) was established
in the year:
(a) 1950 (b) 1947
(c) 1951 (d) 1948

34. Which institution in India makes the calculation of
National income?
(a) RBI (Reserve Bank of India)
(b) NSO (National statistical office)
(c) NSSO (National Sample Survery Organization)
(d) Indian statistical Institution

35. Which of the following is not a method to calculate
the Gross Domestic Product (GDP)?
(a) Product method
(b) Diminishing cost method
(c) Income method
(d) Expenditute method

36. There is problem in calculation of National income
in India:
(a) Minimum employment
(b) Money inflation
(c) Low state of saving
(d) Unorganized sector

37. Which of the following year is being used as the base
year for the calculation of National Income of India
since 2015?
(a) 2004 – 05 (b) 2001 – 02
(c) 2011 – 12
(d) 2007 – 08

38. 'Base Year' in National Income accounting means-
(a) The year whose income is being used to calculate

the nominal GDP
(b) The year whose prices are being used to calculate

the nominal GDP

(c) The year whose prices are being used to calculate
the real GDP/

(d) The year whose income is being used to calculate
the real GDP

30.

(a) (b)

(c) (d)

31.

(a) (b)

(c) (d)

32.

(a) (b)

(c) (d)

(e)

33. (NSSO) 

(a) 1950 (b) 1947

(c) 1951 (d) 1948

34.

(a)

(b)

(c)

(d)

35.

(a) (b)

(c) (d)

36.

(a) (b)

(c) (d)

37.

(a) 2004 – 05 (b) 2001 – 02

(c) 2011 – 12 (d) 2007 – 08

38.

(a)

(b)

(c)

(d)
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39. The Net National Product at Market Price (NNPMP)
is-
(a) Gross National Product at Market Price-Net

Income from abroad
(b) Gross National Product at Market Price-Transfer

Payments
(c) Gross National Product at Market Price-

Depreciation/CGNP-Depreciation
(d) Gross National Product at Market Price-

Subsidies
40. The difference between Gross National product and

Gross Domestic Product is equal to-
(a) The factor income from abroad
(b) Net foreign investment
(c) Net Factor income from abroad
(d) Gross foreign investment

41. Which one of the following equals Personal Dispos-
able Income?
(a) Personal Income - Direct taxes paid by

households and miscellaneous fees, fines, etc./
(b) Private Income - Saving of Private Corporate

Sectors - Corporation Tax

(c) Private Income Taxes

(d) Total expenditure of Households Income Tax -
Gifts received

42. A Redistribution of income in a country can be best
brought about through-

(a) Progressive taxation combined with progressive
expenditure

(b) Progressive taxation combined with regressive
expenditure

(c) Regressive taxation combined with regressive
expenditure

(d) Regressive taxation combined with progressive
expenditure

43. The situation where the equilibrium level of real GDP
falls shorts of potential GDP is known as

(a) Recessionary gap

(b) Inflationary gap

(c) Demand side inflation

(d) Supply side inflation
44. With reference to the Indian economy, consider the

following statements:

1. If the inflation is too high, Reserve Bank of In-
dia (RBI) is likely to buy government securities.

2. If the rupee is rapidly depreciating. RBI is likely
to sell dollars in the market.

3. If interest rates in the USA or European Union
were to fall, that is likely to induce RBI to buy dol-
lars.

39.

(a)

(b)

(c)

(d)

40.

(a)

(b)

(c)

(d)

41.

(a)

(b)

(c)

(d)

42. (Redistribution)

(a)

(b)

(c)

(d)

43.

(a) (b)

(c)

(d)

44.

(RBI)

USA



KGS Campus  Patna –6  Mob. : 8877918018, 8757354880 KGS – 8.

Which of the statements given above are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

45. Open market proceedings are included in:

(a) Qualitative methods of credit control

(b) Quantitative methods of credit control

(c) Controlling the fiscal policy

(d) Controlling the labour policy

46. "Open Market Operations" are the feature of which
of the following policy?

(a) Revenue Policy

(b) Fiscal Policy

(c) Monetary Policy

(d) Labour Policy

47. Which of the following is NOT an instrument of the
monetary policy of the Reserve Bank of India?

(a) Bank Rate

(b) Statutory Liquidity Ratio

(c) Goods and Service Tax

(d) Cash Reserve Ratio

48. In general, the main goal of the monetary policy is-

(a) Control on money supply

(b) Control on private banks

(c) Control on share market

(d) Controlling the precious metals market

49. Which of the following statements is/are correct re-
garding the Monetary Policy Committee (MPC)?

1. It decides the RBI's benchmark Policy rates &
reserve Ratio

2. It is a 12-member body including the Governor
of RBI and is reconstituted every year.

3. It functions under the chairmanship of the Un-
ion Finance Minister.

Select the correct answer using the code given be-
low:

(a) 1 only

(b) 1 and 2 only

(c) 3 only

(d) 2 and 3 only

(a)

(b)

(c)

(d)

45.

(a)

(b)

(c)

(d)

46.

(a)

(b)

(c)

(d)

47.

(a)

(b)

(c)

(d)

48.

(a)

(b)

(c)

(d)

49. MPC

(a)

(b)

(c)

(d)
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50. Which one of the following is not an objective of
Monetary Policy?

(a) Price Stability (b) Economic Stability

(c) Equitable distribution of Income and Assets

(d) Foreign Exchange Rate Stability

51. When the Reserve Bank of India annonces an increase
of the Cash Reserve Ratio, what does it mean?

(a) The commercial banks will have less money to
lend/

(b) The Reserve Bank of India will have less money
to lend/

(c) The Union Government will have less money to
lend

(d) The commercial banks will have more money to
lend

52. If the RBI decides to adopt an expansionist monetary
policy, which of the following would is not do?

1. Cut and optimize the Statutory Liquidity Ratio

2. Increase the Marginal Standing Facility Rate

3. Cut the Bank Rate and Repo Rate

Select the correct answer using the code given be-
low:

(a) 1 and 2 only

(b) 2 only

(c) 1 and 3 only

(d) 1, 2 and 3

53. Consider the following measure that R.B.I. uses to
control inflation in the economy.

1. Increase Bank Rate/

2. Increase Cash Reserve Ratio

3. Increase statutory liquidity Ratio

4. Purchase of government securities

Select the correct answer from the codes given below

Codes

(a) Only 1 and 2

(b) Only 1, 2 and 3

(c) Only 2, 3 and 4

(d) Only 1, 3 and 4

54. Which one of the following is not an instrument of
selective credit control in India?

(a) Regulation of consumer credit

(b) Rationing of Credit

(c) Margin Requirment

(d) Variable cost reserve ratio

50.

(a)

(b)

(c)

(d)

51.

(a)

(b)

(c)

(d)

52.

(a) (b)

(c)

(d)

53.

(a)

(b)

(c)

(d)

54.

(a)

(b)

(c)

(d)
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55. With reference to Indian economy, consider the fol-
lowing :

1. Bank rate

2. Open market operations

3. Public debt

4. Public revenue

Which of the above is/are component/components of
Monetary Policy?

(a) 1 only (b) 1 and 2

(c) 2, 3 and 4

(d) 1, 3 and 4

56. The terms 'Marginal Standing Facility Rate' and 'Net
Demand and Time Liabilities', sometimes appearing
in news, are used in relation to

(a) Banking operations

(b) Communication networking

(c) Military strategies

(d) Supply and demand of agricultural products

57. When the Reserve Rank of India reduces the Statu-
tory Liquidity Ratio by 50 basis points, which of the
following is likely to happen?

(a) India's GDP growth rate increases drastically

(b) Foreign Institutional Investors may bring more
capital into our country

(c) Scheduled Commercial Banks may cut their
lending rates

(d) It may drastically reduce the liquidity to the
banking system

58. In the context of Indian economy; which of the fol-
lowing is/are the purpose/purposes of 'Statutory Re-
serve Requirements'?

1. To enable the Central Bank to control the amount
of advances the banks can create

2. To make the people's deposits with banks safe
and liquid

3. To prevent the commercial banks from making
excessive profits

4. To force the banks to have sufficient vault cash
to meet their day-to-day requirements

Select the correct answer using the code given be-
low.

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1, 2, 3 and 4

55.

(a) (b)

(c)

(d)

56. (Marginal standing facility

rate) (Net Demand and time liabili-

ties)

(a) (b)

(c)

(d)

57.

(a) GDP

(b)

(c)

(d)

58.

(statutory re-

serve requirements)

(a)

(b)

(c)

(d)



KGS Campus  Patna –6  Mob. : 8877918018, 8757354880 KGS – 11.

59. When did the decimal system begin in India's cur-
rency system?

(a) 1950 (b) 1954

(c) 1957 (d) 1960

60. Indian currency is printed in-

(a) Reserve Bank of India

(b) Ministry of finance

(c) Parliament

(d) Nasik printing press

61. Paper currency was first started in India?

(a) 1862 (b) 1542

(c) 1601 (d) 1880

62. Foreign exchange which has a hot trend of quick mi-
gration is called-

(a) Hot money

(b) Gold money

(c) Soft money

(d) Hard money

63. Which one of the following is not a function of -
money?

(a) Acts as an intermediate in the exchange process

(b) Acts as a store of value

(c) Used as the unit of account

(d) Used for regulating consumption

64. Which type of credit is available in money market of
India?

(a) Long term loan

(b) Middle period loan

(c) Short term loan

(d) None of the above

65. Supply of money remaining the same when there is
an increae indemand for money, there will be

(a) a fall in the level of prices

(b) an increase in the rate of interest

(c) a decrease in the rate of interest

(d) an increase in the level of icome and employment

66. The money multiplier in an economy increases with
which one of the following?

(a) Increase in the cash reserve ratio

(b) Increase in the banking habit of the population

(c) Increase in the statutory liquidity ratio

(d) Increase in the population of the country

59.

(a) 1950 (b) 1954

(c) 1957 (d) 1960

60.

(a)

(b)

(c)

(d)

61.

(a) 1862
(b) 1542
(c) 1601

(d) 1880

62.

(a)

(b)

(c)

(d)

63.

(a)

(b)

(c)

(d)

64.

(a)

(b)

(c)

(d)

65. (Supply of Money)

(a)

(b)

(c)

(d)

66.

(a)

(b)

(c)

(d)
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67. Consider the following:

1. Currency with the public

2. Demand deposits with banks

3. Time deposits with banks

Which of these are included in Broad Money (M3) in
India?

(a) 1 and 2

(b) 1 and 3

(c) 2 and 3

(d) 1, 2 and 3

68. Which of the following measures would result in an
increase in the money supply in the economy?

1. Purchase of govt securities from the public by
the central bank

2. Deposit of currency in commercial banks by the
public

3. Borrowing by the govt. from the central bank

4. Sale of govt. secs. To the public by the central
bank

Select the correct answer using the codes given be-
low:

(a) 1 only

(b) 2 and 4 only

(c) 1 and 3

(d) 2, 3 and 4

69. Which of the following statements about Bitcoin is/
are correct?

1. It is a decentralized virtual currency.

2. It is generated through complex computer soft-
ware systems

3. The Reserve Bank of India recognized it as a
legal tender in January 2016.

Select the correct answer using the code given be-
low.

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1, 2 and 3

70. If you withdraw 1,00,000 in cash from your Demand
Deposit Account at your bank, the immediate effect
on aggregate money supply in the economy will be

(a) to reduce it by 1,00,000

(b) to increase it by  1,00,000

(c) to increase it by more than 1,00,000

(d) to leave it unchanged

67.

(a)

(b)

(c)

(d)

68.

(a)

(b)

(c)

(d)

69. (Bitcoin)

(a) (b)

(c)

(d)

70. (Demand Deposit

Account) Rs.

(a) Rs

(b) Rs

(c) Rs

(d)
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71. 'Shishu', 'Kishor' and 'Tarun' are the schemes of

(a) Regional Rural Banks

(b) Micro Units Development & Refinance Agency
Ltd. (MUDRA).

(c) Small Industries Development Bank of India.

(d) Industrial Development Bank of India.

72. SENSEX is the popular Index of Bombay stock
Exchage (BSE). It is measured on the basis of how
mans bitte chip companies listed in BSE?

(a) 20 (b) 30

(c) 25 (d) 10

73. 'Dalal Street' is located in

(a) New Delhi (b) London

(c) in Mumbai (d) in Paris

74. Which of the following statements is true for the Bom-
bay stock market?

(a) It is the oldest stock market in India

(b) It is also known as 'Dalal Street'

(c) Its stock index is known as 'SENSEX'

(d) All of the above

75. With reference to the Indian economy, consider the
following statements:

1. 'Commercial Paper is a short-term unsecured
promissory note.

2. Certificate of Deposit is a long-term instrument
issued by the Reserve Bank of India to a corpo-
ration.

3. Call Money is a short-term finance used for
interbank transactions.

4. "Zero-Coupon Bonds are the interest bearing
short- term bonds issued by the Scheduled
Commercial Banks to coporations

Which of the statements given above is/are cor-
rect?

(a) 1 and 2 only

(b) 4 only

(c) 1 and 3 only

(d) 2, 3 and 4 only

76. "Gilt-Edged" market is related to

(a) Government Securities Market

(b) Bullian Market

(c) Metal Market

(d) Export Market

71.

(a)

(b)

MUDRA

(c)

(d)

72. (BSE) 

(a) (b)

(c) (d)

73.

(a) (b)

(c) (d)

74.

(a)

(b)

(c)

(d)

75.

(a)

(b)

(c)

(d)

76. " " 
(a)

(b)

(c)

(d)
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77. 'Inside Trading' is related to-

(a) From public expenditure

(b) Taxation

(c) from stock market

(d) Hawala

78. What does venture capital mean?

(a) A short-term capital provided to industries

(b) A long-term start-up capital provided to new
entrepreneurs

(c) Funds provided to insustries at times of incurring
losses

(d) Funds provided for replacement and renovation
of industries

79. Capital market means

(a) from stock market

(b) from commodity market

(c) from money market

(d) above all

80. SEBI was established in the year:

(a) 1988

(b) 1990

(c) 1991

(d) 1985

81. In which budget did the Finance Minister announce
the Liberalized Exchange Rate Management System?

(a) Union Budget, 1993-94/

(b) Union Budget, 1991-92/

(c) (Union Budget, 1992-93

(d) Mre than one of the above/

(e) Nae of the above

82. The revenue estimates of the Budget in India are pre-
pared by-

(a) The Central Board of Direct Taxes

(b) The Central Secretariat

(c) The respective commissions

(d) The Ministry of Finance

83. With respect to the procedure of Budget in the Parlia-
ment, "the amount of demand be reduced to 1" is
called

(a) Ecnomy Cut -Motio

(b) Pdicy Cut -Motio

(c) Basic Cut -Motion

(d) Tiken Cut -Motion

77.

(a)

(b)

(c)

(d)

78.

(a)

(b)

(c)

(d)

79.

(a)

(b)

(c)

(d)

80. (SEBI) 

(a) 1988

(b) 1990

(c) 1991

(d) 1985

81.

(a)

(b)

(c)

(d)

(e)

82.

(a)

(b)

(c)

(d)

83.

(a)

(b)

(c)

(d)
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84. Along with the Budget, the Finance Minister an places
other documents before the parliament whic include
The Macro Economic Framewor statement. The afore-
said document is presented because this is mandated
by

(a) long standing parliamentary convention

(b) Aticle 112 and Article 1101) of the Constitution
of India

(c) Article 113 oft he Constitution of Indis

(d) Povisions of the Fiscal Responsibility and Budge
Management Act, 2003

85. When was gender budgeting initiated in India?

(a) Union Budget, 2005

(b) Union Budget, 2006

(c) Union Budget, 2008,

(d) Union Budget, 2004,

(e) Nne of the abov/More thanone of the above

86. Which one of the following is not a component of
Revenue Receipts of the Union Government ?

(a) Coporate tax receipts

(b) Profits of PSUS

(c) Disnivestment receipts

(d) Interest receipts

87. Who among the followings benefited most from in-
flation?

(a) Money lenders

(b) Debtors

(c) Savng a/c holders

(d) State pentioners

88. In India, which one of the following is responsible
for maintaining price stability by controlling Infla-
tion?

(a) Department of Consumer Affairs

(b) Expenditure Management Commission

(c) Financial Stability and Development Council

(d) Reserve Bank of India

89. Which of the following goods are included to esti-
mate food inflation in India?

1. Wheat

2. Paddy

3. Tobacco

4. Sugar

84.

(a)

(b)

(c)

(d)

85.

(a)

(b)

(c)

(d)

(d)

86.

(a)

(b) PSUS 

(c)

(d)

87.

(a)

(b)

(c)

(d)

88.

(a)

(b)

(c)

(d)

89.
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Select the correct answer using the code given be-
low

(a) 1, 2 and 3

(b) 2, 3 and 4

(c) 1, 3 and 4

(d) 1, 2 and 4

90. Surge pricing takes place when a service provider

(a) raises the price of its product or service as
demand outstrips supply

(b) follows preset prices immune to demand an
supply dynamics

(c) fixes a minimum price for its services

(d) fixes an average price on the basis of transactions
carried over a day

91. Which of the following will be the outcome if an
economy is under the inflationary pressure?

1. Domestic currency heads for depreciation.

2. Exports become less competitive

3. Cost of borrowing decreases.

4. Bondholders get benefitted.

Select the correct answer using the code given be-
low

(a) 1 and 2

(b) 2 and 3

(c) 1 and 3 only

(d) 1, 3 and 4

92. Consider the following statements regarding Reserve
Bank of Inida:

1. It is a banker to the Central Government.

2. It formulates and administers monetary policy

3. It acts as an agent of the Government in respect
of India' membership of IMF

4. It handles the borrowing programme of Govern-
ment

Select the correct answer using the code given be-
low

(a) 1 and 2

(b) 2, 3 and 4

(c) 1, 2, 3 and 4

(d) 3 and 4

(a)

(b)

(c)

(d)

90.

(a)

(b)

(c)

(d)

91.

(a)

(b)

(c)

(d)

92. (RBI)

(a)

(b)

(c)

(d)
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93. Which one of the following is not the function of
Raserve bank of India?

(a) Credit control

(b) Control on monetary policy

(c) Control on fiscal deficit

(d) Regulation of external value of rupee

94. Treasury bills are sold in India by

(a) Reserve Bank of India

(b) State Governments

(c) Commercial Banks

(d) SEBI

95. Which of the following is not determined by Reserve
bank of India?

(a) Bank Rate

(b) CRR

(c) PLR

(d) SLR

96. Consider the following statements:

1. The Governor of the Reserve Bank of India (RBI)
is appointed by the Central Government.

2. Certain provisions in the Constitution of India give
the Central Government the right to issue directions
to the RBI in public interest.

3. The Governor of the RBI draws his power the RBI
Act.

Which of the above statements are correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

97. In India, the central bank's function as the 'lender of
refers to which of the

1. Lending to trade and industry bodies when they
fail to borrow from other sources.

2. Providing liquidity to the banks having a tem-
porary crisis

3. Lending to governments to finance budgetary
deficits

Select the correct answer using the code given
below.

(a) 1 and 2

(b) 2 only

(c) 2 and 3

(d) 3 only

93.

(a)

(b)

(c)

(d)

94.

(a)

(b)

(c)

(d)

95.

(a)

(b)

(c)

(d)

96.

(a)

(b)

(c)

(d)

97.

(a)

(b)

(c)

(d)
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98. Which of the following committee was constituted
for suggesting improvement in customer services for
banks?

(a) Raja Chelliah Committee

(b) Verma Committee

(c) Goiporia Committee

(d) Chakravarty Committee

99. The recommendation of Shivraman Committee led
to the establishment of which of the following insti-
tution?

(a) NITI Aayog

(b) National Bank for Agricultural and Rural
Development

(c) Central Board for Direct Taxes

(d) Small Industries Development Bank of India

100.Which one of the following statements correctly de-
scribes the meaning of legal tender money?

(a) The money which is tendered in courts of law to
defray the fee of legal cases

(b) The money which a creditor is under compulsion
to accept in settlement of his claims

(c) The bank money in the form of cheques, drafts,
bills of exchange, etc.

(d) The metallic money in circulation in a country

98.

(a)

(b)

(c)

(d)

99.

(a)

(b)

(c)

(d)

100.

(a)

(b)

(c)

(d)




